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QUESTION 1

Which type of memory is used to permanently store Cisco I0S Software?
A. NVRAM

B. flash

C. SRAM

D. DRAM

Correct Answer: A

QUESTION 2

What is the correct IPv6 address notation?

A. 2001:0DB8::/128

B. 2001:0DB8:0::

C. 2001:0DB8::1:1:1:1:1

D. 2001:0DB8:130F:0000:0000:7000:0000:140B

Correct Answer: D

QUESTION 3

Which address facilitates the routing of packets over an IP network?
A. physical

B. transport

C. network

D. MAC

Correct Answer: C

QUESTION 4
Which two statements about a SmartJack are true? (Choose two.)
A. It provides signal conversion.

B. It acts as a concentration point for dial-in and dial-out connections.
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C. It operates at Layer 2 of the OSI model.
D. It provides channel testing.
E. It regenerates the signal to compensate for signal degradation from line transmission.

Correct Answer: AE

QUESTION 5

An Ethernet interface is up and the line protocol is down. What are two possible causes? (Choose two.)
A. There is a speed or duplex mismatch with the remote device.

B. There is a Layer 2 mismatch in the encapsulation type.

C. The Ethernet interface has been manually disabled.

D. Keepalives are not being received by the local device.

E. The Ethernet cable might not be attached properly.

Correct Answer:. AB
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